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(1) EMA=AK ABC (LB %2Ef) ZBWVWT, FUDEIEZDET

A %7,
H=AB = b, [¢=BC = q, #%=AC = c.

- & x5 .

L k@:AF:bk,ﬁzE&“:DC:ak,E{J’Q:BH:bm:%,
‘0 M =AH=c,, B =CH=1¢, c=cs+c,

F = WEDIE S BDEF ®—il = t,
B = NEMOER = 2r, 1O O = r.

B D C

A

AN
(2) A=AB, }=BC, %=AC lZ EKERALTHD.
‘0 Om 3OOWNEMIEKMZE O, hH % O,,, /NI%Z O, ZHi& 9 5,

MREZNTN, rr,rs ERTE
2rs =cs+b, —b, 2r=a+b—c= a7b7 2rm = ¢+ by, —a

B C a+b+c

A

(AN
F E
. (3) “A=AB, B=BC, #%=AC
tm 3DDfM. KA. . INFE &I,

(EABEENTNO—BOESE ¢ = 0 4 1)

B D C a+b
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1. axb:2SJzy\|3%ﬁT~§S:%ab L35
2. by, xc=28
3. a2 4+ 0% = 2 (BBHLDOFEE) Wb =D
EH
4. (a—b)*+4S =¢2
5. (a—b)2+8S = (a+0b)?
6. 2 +4S = (a + b)?
7. (@ +b)?+ (a—b)? =22
8. (a+b)(a—10b)=a*-1?
9. (c+a)(c—a)= b
10. (c+b)(c—b) =a?
11. a? x b* = 452
12. b2, x ¢ =452
13. (c+a)?*(c—a)? =0b*
14. (c+b)*(c—b)? = a*
15. ¢ xcs:bfn
16. ¢s X ¢ = b?
17. ¢; x ¢ = a?
18. ¢ x 2 =10},
19. 2 x 2 =p*
20. ¢} x 2 =at
21. (b +¢)? — (b+a)? =02,
22. a?> —b? = (¢, —cs) X ¢
23. i —c2=(q—cs) xc=(a+b)(a—0b)
24. (a®> —b?) 4+ (a +b)?> = (a +b) X 2a
25. (a+b)2 — (a®> — b?) = (a +b) x 2b
26. %(a—kb—i—c) +25=(a+b)(a+b+c)
27. 2(b+c)(a+c) = (a+ b+ c)?
28. (b+by +cs)?>+(a+by,+c)?>=(a+b+c)?
29. (b +¢5)? + (b + ¢1)? = (a + b)?
30. (a+bm)?+ (b+cs)? = (b+c)?
3. (b+by)*+ (a+c)? = (a+c)?
32. a2+ —b2 =cx2
33. B2+ c? —a?=cx2¢c
34. 2 —4b2, = (¢ — ¢s)?
35. ¢l + 2+ 2b, =
36. b2 — b2, =2
37. a? — b2, =c?
38. 25 -b=ab?
39. 25 -a="ba?
40. ¢;-b=ab,,
41. ¢s-a=10bb,,
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64.
65.
66.
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68.
69.
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71.
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2c(a+b+c+by) =

2(c—a)(c+0b) =

2(c=b)(c+a) =

(c=b)+(c—a)—(c—
(

—(a—b) =02

(a+b+c)?
(c—a+b)?
(c—b+a)?

b)=c—a
—a)t=a+b
—a)?’+c2=2c{(c—b)+ (c—a)}

b, —¢s) + (¢ — b)) = ¢ — ¢

(
(
(
(b — ) + (b
(
(
(

—a)? = (a—1b)?
by, —b)2 + (¢ — a)? = (c — a)?
cs — )2+ (b, —a)? = (c—b)?
a—b)c+ (c—a)b=(c—b)a
b2 + (c —a)? = 2¢(c — a)
a? + (c —b)? = 2¢(c —b)
b? — (c—a)? = 2a(c — a)
a? — (c —b)? = 2b(c —b)
b+c)?+a®>=2c(b+c)

—45 =2c(a+b+c)

a+b+c)?>+4S =2(a+b)(a+b+c)

a+b+c)2—(4S+202):
cb+by, - a
c-a=c¢-a+b, b

a+ c)b= (b, +b)c
a+b)b= (by +cs)c

b+ c)a = (by +a)c
a+b)a= (b, +c)c

b+ c)e; = (b +a)a
a+c)cs = (by, + b)b
—(a—b)* = c{(bn
(c—0)%+
(bm — ¢s)(cr = b) = b { (1
2S5 =(a+0b)t

(a+0b)? 12 =452

ay - by = t2

t-b="bra

t-a=arb

2Sa; =t-a?

25by, =t - b
(a+b) by, = b

(
(
(
(
(
(

—cs) + (b
(c—a)? =c{2[(c—b) + (c—a)] — ¢}

2¢(a +b)

—a)}

- bm) - (bm

—cs)}
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84. (a+b)ay = a?

85. (ak + bg)(a +b) = c?

86. (ay + by +1)? —c? =t>

87. (ax —t)b=(a—0) -t

88. (by —t)a=(b—a)-t

89. 2(a+b+c—t)(a+b)=(a+b+c)?
90. 2(a+b+c—t)c=(a+b+c—2t)(a+b+c)
L. by -t = (b — t)(a + b+ c)

92. 4(S —t3)S =t x ¢?

93. {4t2 + (a — b)?} b2, =t - 2

94. (a+b)by, —t-c= (by, —t)(a+b+c)
95. 45 =2r(a+b+c)

96. (a+b+c)? x (2r)? = 1652

97. a+b—c=2r

9. a+b+c—2r=2

9. a+b+c+2r=2a+0b)

100. b— (¢ —a) =2r

101. (c—b)=2r

102. 2(c — b)(c — a) = (2r)?

103. (c—=b)+(c—a)+2r=c

104. (b+c)a—a?= (b+c)(2r)

105.
106.
107.
108.

(a+¢c)b—b% = (a+c)(2r)
(c+bm)—(b+a) =0by —2r
(b, — 27)(a 4+ b+ ¢+ by) = b2,
2¢(by, — 2r) = (2r)?

109. (b, —2r)(a+b+c) = (2r)by,
110. (a+b+c+2r)xt =48
111, c(by —t) = 2r -t

112. 2r —t)(a+b+c)=2r-t
113. (bp, —2r) + (2r —t) = by, — t
114. (2r — t)by, = (by, — 27)t

115. ¢(by —2r) = (2r — t)(a + 1)
116. {(bm —2r) — 2r —t)} =2r(2r — t)
117. (b — t)(a + b) = 2rby,

118. (2t — 2r) by, = 2rt

119. (2by, — 27) X t = 27 - by

120. r4 +7r+ 1y = by,

121. (2r5)% + (2r,)% = (2r)2

122. 2rb =2r,c

123. 2ra =2r,, c

124. 2b,, b =2rs(a+ b+ c)

125. 2b,, a = 2rp(a+ b+ c)
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